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& 1. Nine curds of hard woud have the eame heating capacity as
b tons of conl. A farmer burns 30 cords of wood in a year, for
w}}nch he paid §3.50 per cord. How much will he save (if any-
thing) by chauging to coal, winch he can buy for 85.75 per ton.
' . Ans. $9.163 in favor of coal.
Solution . 9 curds, 30 curds, b tuns, 163 tous,
So that 163 tous of coal=30 cords of wood
30 cords @ £3.50=8105.00
163 tons @ 85.706= $95.834.

$0. 0=

$9.163% in favor of coal.

2. A school-house Jot contained a quarter of an acre, and was
90 fect wide. The trustees propused to add another quarter of an
ucre, by increasing the width 30 feet. How wmuch had the length
to bo increased? Aus. G0} feot,
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ot Sol.: } Ac=10890 sq. ft. +-90=121 ft. length,
""i 'C:“i 3 Ac=21780-+-(90-+-30)=1814 ft. length,
= . of tho half acre, and
Anl 181} - 121=G0} ft. Ans,
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3. A Kingston money-lender borrowed money in Scotland at 3 ¢
mt. payable yearly, and lent the same money in Kingston and
viemity at 8 7 the interest payable half-yearly ; find his yearly in-
come from a Scottish loan of 850,000, Ans, $2,580.

Solution : =81 for 1 year at 3 ¢ amounts to §1.03

81 @ 8 % payable half-yearly =(1.04)3=81.0816,

and $1.0816 —81 03 = 0516 gained on 81,

and $50,000 x "0516 = §2,520.00 Ans.

4. A farmmer was assessed at 83,250, The R. R. tax was five-
eighths of a mill mS. The H. 8. tax was six-a-hundredths of a
milion$. The P. S, tax was 43 mills on §. The township tax
was one-tenth of s mill on §  The county tax was one and seven-
a-thousandths of a uull un 8. The interest un Co. debt was une and,
four-a-hundredths of a mill on§.  Find the total tax.

Ans. $24.154.

Solution :—83250 ¥ *000§=8 2031} ==Railroad tax

23250 x "0000= -*95 =Hich School tax

83250 x 0048 =140  =Public School tax

§3250%x ‘0001 = 525 =Township tax

£3250 = .001007 =3-272¢ = County tax

$3250 x ‘00104 =338 =County debt tax
$24°154 Ans.

5. How much lumber will put up 100 rods of a running board
fence. The bottom board being 10 inches wide, the second 8 inches,
the third 8 inches, the fourth 6 inches, aud the one along the top 8
inches. Thoe pickets set G feet apart, .ud faced with lumber 8,
mches wide, sawn to sutt the pickets which wero 43 feet hugh. Aus,
6,328 squaro feot.

Solution :—10+8 4846 48 =40 in.=width of boards.

7. Cheeso is quuted in Liverpool at Tl1s. Gd. per cwt. ; and ster-
ling exchango at 0§ ; find the price per b, of cheese in conts. Ans.
15,652 cents or a hittle, or 153 cents per b,

Solution :—71s, 6d. cy. x 20=814.30, and $14.30

increased by § of $14.30=3514.30+1.58§=815.88§ x 81.09§=

817,4181944 =718, 6d. sterhng, and $17,4181944+112 lbs. (long

cut)=15} cents nearly. .

8. How many feet of inch lumber in 200 joists 21 fuet 6 inches
long and 4} by 9inches? Ans. 14,512} square feet.

Solution :=—200 x 214 x % x 44 =14,612% board measure,

9. A farm was known to bo 37 rods and 1 yard wide. How
nluu.ly chuins in length of it will contamm 25 acres. Ans. 26.89}
chains.

Suiution. -25 x 4 x 4030} x 9=1,089,000 sq. £t. in 26 acres.

37%x 163 4 3 ft. =013} ft. width of farm.

1,089,000+ 6133 =1775.07--66=26 ch, 89} links. Ans.

Or, 37,—+4=9.2913 ch. width of farm,

and 25 x 100,000 =2,500,000 square links, and

2,500,000-;—9.295%:26.891 chains. Ans.

10. In 1884 there were put into “Pine Grove Cheese Factory”
797,498 1bs. of milk, from this were mide 80,170 lbs. of cheese.
This cheese was sold for $8,287.82. The charges for making were
1} cents for each pound of cheese, and the salesman received 1 per
cent. for selling.  Find wiat the patrons got per ton for milk ?

Solution : —80,170 x 1} =81002.12 making

88237.82 x "001=  82.38 salesman’s commission.
$1084.50 total charges. ”

88237.82 —$1084. 50=387153.32 797498 = :0089,697 1bs. and

*0089,697 x 2,000=3817,9394 per ton. Ans.

11. A meadow was 40 rods long, 23 rods wide. A mowing ma-
chine was driven round it 18 times, cutting @ swarth 4 ft. 6 inches
wide ; find how much it cut, and how much was left uncut.

Ans. 3 A, 1R, 21 P, 233 yds. cut,
2 A, 3R, 18P, 6} yds. uncut.
*  Solution:—'18 x 4} x 2=
18% ft. =9 rods, which the
meadow is gecrensed in both
length and width,ileaving a
rectangle 302 rods by 1bgy

40 reds.

30y rods.

g 18 rods (40-9 =307 and 25

uncut. 2 |2 - 99 =152, rods), and 303

B At K1d3+40+-4=2 A, 3 R, fg
o) per, GL yds.

emaining uncut—

40X25+160= 6} Ac=whole
meadow, and 6 A, 1 R.—-24,
3 x, 18 per., 6} yds=3 A, 1 R, 21 P, 23} yds. the quantity cut.

12. On Jan. 2oth, 1883, a storckeepor borrowed from a farmer
8200 fur une yuar at 87, with permission to pay the whole or part
any timo during the year. On the 11th of Oct., 1883, he paid
$180. How much will settle his note in free on Jan. 25th, 1884, _

Ans, $31.82,

Solution. $200x 08=16.00=int. $200+816=216.00 amt. of
$200 fur une year. From Oct. 11 to Jan. 25=106 days,
and $180 x 08 X 106=- 365 =84.18 interest on 8180,
and $180+-4.18=8184.18 (credit),
and $216.00 -$184.18=331.82 Ans.

13. A wood-rack was ordered from a carpenter to contain 1} cords
of wood (the wood piled crossways), the load to be 4} feet high ;
find the length of the rack 8 ft. 102 in.

128 x1} 2
4x41'_8 ft. 102 in. Ans.

14. On Oct. 12th, 1884, notes to the amount of $1,308.35 were
given at a cred’t so10 with interest at 7 % for 1 year. On the 2nd
of Feb, following vhese notes were sold to a money-lender for
$1,250. Find what rate of interest will bs made by the money-
lender.  $17¢75 %-

Solution :—$1,398 35X 07=891.58 int. for 1 year,

and $1,308.35+91.58=81,399.93 amount

Sclution :—

100 x 16} x % =5300 sq. ft. in running boards.
(100 x 163 +6) + 1=276, number of pickots.
270 x 43 x ¥,y =8.8 5q. ft. facing pickets,

2 I |
and 5500 + 828=6,328 sq. ft. Answer.

6. How many acres in 46 chains, 64 links of a forty-foot road?'

Ans. 2 acres, 3 rods, 12 perches. 8 yards.
Solution :—46 ch. 64 nunksx66=307824x40=123.129.6=2
acres, 3 rods, 12 perches, 8 yards.

81,399.93 ~ $1.250=8149.93 =The intercst
made on 81,250 from Feb. 2 to Oct. 13=8m. 10d.,
and $149.93+(81,250 x 8} m. +-12)="17%/; cents
on the §, or 1Ty % Aus.
15. How much lumber will make 500 biscuit boxes 18 in. long,
16 1. wide, and 6 inches deep, ontside measurement, the lumber

| being half an in. thick 3652F sq. ft.



